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Math 54, Spring 2009, Section 109

Quiz 2
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(2) (a) (2 pts) What is the definition of a linear transformation 7' : R® — R™ that is one-
to-one? What is the definition of a linear transformation that is onto?

See solvbon /Por Saden 2.

(b) (1 pt) Choose one of the above properties (one-to-one, or onto), and state an equiva-
lent property of the standard matrix of T'. (e.g. “T" is one-to-one if and only if the standard
matrix of T has 47 rows,” but something true...)




(3) (a) (2pts) Let H be the subspace of R® with ordered basis B = { 2

-1
that £ = { 4 ] is in H, find the coordinates of Z with respect to B.
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T(H)=—2, T([2]):2.

3 ) 3
FindT([zL}). |
6| _
7l | /,'z' 1;’), [ 3 -
T( ) .2/ 4] T 2| 3 "2/" ZT([;){»

3
- é YA P 2 = 7




